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®

( 2.1-3)
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2.1-3

1 6 16 /h/
4 (2008 4 )

-36



2.1-3

1 (kg)
2007 ( ) 1,288 | 1,484 917 398 | 4,087
9/22( ) ( ) 90 90 180
10/3( ) 2,120 | 2,020 2,540 700 | 7,380
10/6( ) 11,647
10/11( ) () 90 51 328 10
( ) 3 5.5 2 5
(kg/h/ ) * 7 6 3 11
(m) 295 | 1,222 752 242
2 (kg)
12/2( ) ( ) 1,565 353 1,859 244 | 4,021
12/5( ) ( ) 20 50 15 15 100
12/9C , ) 2,850 340 730 20| 3,940
8,061
() 80 46 164 15
D) 2 2 2 4
(kg/n/ ) * 13 9 11 6
(m) 242 | 1,222 421 242
4 (ka)
2008 ( ) 2,762 256 34| 3,052
4/9( ) ( ) 340 340
4/10( ) 2,080 60 20| 2,160
4/11( ) 5,552
4/12( ) () 95
4/13( ) ( ) 2
(kg/n/ )t 16
(m) 577 80 40 76
5 (k9)
5/30( ) ( ) 895 380 155 | 1,430
6/1( ) ( ) 77 31 3 110
1,067 533 0| 1,600
3,140
() 60 75 13
D) 2 2 2
(kg/n/ ) * 11 6 6
(n) 1,222 738 242
6 (kg)
9/20( ) ( ) 235 286 680 1,200
9/21( ) ( ) 21 2 28 2 187 236
81 81 640 802
2,238
() 60 50 314
( ) 1 1 1
(kg/n/ ) * 4 6 3
(m) 129 | 1,156 738
1
2 0.17kg/L
©)
2.1-4 1 (2007 9 10 )
2007 10
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2.1-4 1 (2007 9 10 )
(k9) (/o O
13 90 1,170
42 10 420
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2.2-2
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2.2-2

12

2007

2.2-2

&)

2.2-3

10 30 7/

2.2-3

2.2-3
5 15 /h/

®
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2.2-3

2.2-4

2.2-4

1
2 ()

( ) ) « D ® (m3) 7 7)
1 3 286| 2,002 15,000 13 98 9 6
2 2 4 311| 2,177 15,000 18 137 9 8
3 1 121 842 7,000 4 30 ¥ 5
4 2 246| 1,664 15,000 8 60 ¥ 5
5 1 19 76 1,500 1 99 15
6
®




3.

3.1
3.1.1

3 1.7 3.1-1

3.1-1
3.1-1
100m
3.1-1

3.1.2
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3.1-2

10 23 24

9 25 28 10 28 5 30 31 7 6 10 9 4
1 1




3.1.3

€Y)
FM 3.1-3
NPO
3.1-3
8 101
@
a.
1 1.5
30
3.1-2

3.1-2

2 2007 10

3.92 28 3.1-3
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®

2 1 4 2007 9 2008 5
5 2008 7

1 2007 9
100 4 3 30
720 3.1-4




15
2 3
20

2.5 3.1-5

*
3.1-4 14 6
5 7 /v 5

33 /h/
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3.1-4

3.1-6

1)
2 ()

( ) ) ( ) (t) (m3) ( / / )
1 303 729 2,400 5 17 ® 7
2 190 770 2,500 5 16 9 6
3
4 23 115 3,050 1 29 6
5 18 174 683 34,000 22 77 9 33
6 40 347 0 1 5
iy}
2)
3)
4) 0.27
®)

80m
3.1-6
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